

LIST OF PRINTED JOURNALS SUBSCRIBED BY THE QUANTUM LIBRARY

S.NO	NAME OF THE JOURNAL
1	INTERNATIONAL JOURNAL OF IMAGE PROCESSING AND PATTERN RECOGNITION
2	E-COMMERCE FOR FUTURE AND TRENDS
3	INTERNATIONAL JOURNAL OF WIRELESS NETWORK SECURITY
4	INTERNATIONAL JOURNAL OF SOFTWARE COMPUTING AND TESTING
5	JOURNAL OF ADVANCES IN SHELL PROGRAMMINBG
6	INTERNATIONAL JOURNAL OF INFORMATION SECURITY AND SOFTWARE ENGINEERING
7	INTERNATIONAL JOURNAL OF MOBILE COMPUTING DEVICES
8	INTERNATIONAL JOURNAL OF DATA STRUCTURE
9	INTERNATIONAL JOURNAL OF THERMAL ENERGY AND APPLICATION
10	TRENDS IN MECHANICAL ENGINEERING AND TECHNOLOGY
11	INTERNATIONAL JOURNAL OF PREVENTION AND CONTROL OF INDUSTRIAL POLLUTION
12	INTERNATIONAL JOURNAL OF ENVIRONMENTAL CHEMISTRY
13	INTERNATIONAL JOURNAL OF GREEN CHEMISTRY
14	JOURNALS OF MATERIALS AND METALLURGICAL ENGINEERING
15	JOURNAL OF OPERATING SYSTEMS DEVELOPMENT AND TRENDS
16	JOURNAL OF WATER RESOURCE ENGINEERING AND MANAGEMENT
17	INTERNATIONAL JOURNALOF EMBEDDED SYSTEMS AND EMERGING TECHNOLOGY
18	RECENT TRENDS IN SENSOR RESEARCH AND TECHNOLOGY
19	JOURNAL OF MICROELECTRONICS AND SOLID STATE DEVICES
20	JOURNAL OF VLSI DESIGN TOOLS AND TECHNOLOGY
21	INTERNATIONAL JOURNAL OF ROBOTICS AND AUTOMATION
22	JOURNAL OF IMAGE PROCESSING AND PATTERN RECOGNITION
23	INTERNATIONAL JOURNALOF MACHINE DESIGN AND MANUFACTURING
24	INTERNATIONAL JOURNAL OF SOLID STATE MATERIALS
25	INTERNATIONAL JOURNAL OF STRUCTURAL MECHANICS AND FINITE ELEMENTS
26	INTERNATIONAL JOURNAL OF STRUCTURAL ENGINEERING AND ANALYSIS
27	INTERNATIONAL JOURNAL OF GEOLOGICAL AND GEOTECHNICAL ENGINEERING
28	JOURNAL OF OFFSHORE STRUCTURE AND TECHNOLOGY
29	RESEARCH AND REVIEWS:JOURNALOF LIFE SCIENCE
30	JOURNAL OF AUTOMOBILE ENGINEERING AND APPLICATION
31	JOURNAL OF WEB ENGINEERING AND TECHNOLOGY
32	RESEACRH AND REVIEWS:DISCRETE MATHEMATICAL STRUCTURE
33	RESEACRH AND REVIEWS:JOURNAL OF CROP SCIENCE AND TECHNOLOGY
34	INTERNATIONAL JOURNAL OF ALGORITHMS DESIGN AND ANALYSIS
35	JOURNAL OF NETWORK SECURITY
36	JOURNAL OF MOBILE COMPUTING COMMUNICATION AND MOBILE NETWORKING
37	JOURNALOF COMPUTER TECHNOLOGY AND APPLICATIONS QUA
38	INTERNATIONAL JOURNAL OF I.C ENGINE AND GAS TURBINES

LIBRARIAN NTUM UNIVERSITY ROORKEE

Registrar Quantum University

39	INTERNATIONAL JOURNAL OF MANUFACTURING AND MATERIALS PROCESSING
40	JOURNALOF CONSTRUCTION ENGINEERING TECHNOLOGY AND MANAGEMENT
41	INTERNATIONAL JOURNAL OF TRANSPORATION ENGINEERING AND TRAFFIC SYSTEMS
42	RESEARCH AND REVIEWS:JOURNALS OF PHYSICS
43	JOURNALS OF ADVANCE DATABASE MANAGEMENT AND SYSTEMS
44	RESEARCH AND REVIEWS:JOURNALOF AGRICULTURAL SCIENCE AND TECHNOLOGY
45	JOURNALOF ARTIFICIAL INTELLIGENCE RESEARCH AND ADVANCES
46	INTERNATIONAL JOURNAL OF RURAL MANAGEMNMENT
47	FOREIGN TRADE REVIEW
	GLOBAL BUSINESS REVIEW
48 49	SOUTH ASIAN JOURNALOF BUSINESS AND MANAGEMENT
	VISION:THE JOURNAL OF BISINESS PERSPECTIVE
50	METAMORPHOSIS: JOURNAL OF MANAGEMENT RESEARCH
51	
52	VIKALPA: JOURNAL GOR DECISION MAKERS
53	JOURNAL OF HUMAN VALUES
54	JOURNAL OF HUMAN VALUES
55	JOURNALOF ENMERGING MARKET FINANCE
56	ASIAN JOURNAL OF MANAGEMENT CASES
57	IIM KOZHIKODE SOCIETY AND MANAGEMENT REVIEW
58	SUPREME COURT CASES
59	AIR MONTHLY
60	CRIMINAL LAW JOURNALS
61	COMPANY CASES
62	AIR CIVIL CASES AIR CHEQUE DISHONOUR REPORTS
64	AIR ACCIDENT CLAIMS & COMPENSATION CASES
65	AIR LAW LINES
66	LABOUR & INDUSTRIAL CASES
67	ALLAHABAD LAW JOURNALS
68	JOURNAL OF CONSTITUTIONAL LAW AND JURISPRUDENCE
69	NATIONAL JOURNAL OF CYBER SECURITY LAW
70	INDIAN JOURNALOF HEALTH AND MEDICAL LAW
71	NATIONAL JOURNALOF CRIMINAL LAW
72	JOURNALOF HUMAN rights LAW AND PRACTICE
73	CIMS
74	INDIAN DRUG REVIEW
75	INDIAN JOURNAL OF PHARMACEUTICAL RESEARCH AND TECHNOLOGY
76	INDIAN JOURNAL OF PHARMACEUTICAL FORMULATION AND ANALYSIS
77	INDIAN JOURNAL OF PHARMACOLOGY AND TECHNOLOGY
78	INDIAN JOURNAL OF PHARMAGENESIS
79	INDIAN JOURNAL OF DRUG TARGETS
80	INDIAN JOURNAL OF DRUG DISCOVERY AND TECHNOLOGY
81	INDIAN JOURNAL OF BIOMEDICAL SIGNAL PROCESSING
82 83	INDIAN JOURNAL OF DRUG DEVELOPMENT AND TECHNOLOGY INDIAN JOURNAL OF ADVANCES DRUG DELIVERY
83	INDIAN JOURNAL OF ADVANCES DRUG DELIVERY INDIAN JOURNAL OF ADVANCES IN PHARMACOLOGICAL SCIENCE
85	INTERNATIONAL JOURNAL OF DRUG TARGETS
86	INTERNATIONAL JOURNAL OF DRUG DISCOVERY AND TECHNOLOGY
87	INTERNATIONAL JOURNAL OF ADVANCES DRUG DELIVERY
88	INTERNATIONAL JOURNAL OF PHARMACOLOGY AND TECHNOLOGY
89	INDIAN JOURNAL OF PHARMACEUTICS
90	INTERNATIONAL JOURNAL OF PHARMACEUTICAL FORMULATION AND ANALYSIS
91	DRUGS TODAY
92	PHARMA NEWS /
•	

Registrar Quantum University LIBRARIAN QUANTUM UNIVERSITY ROORKEE

Mag'World

Subscription Agents for International & National E/Print Journals & Periodicals INVOICE No.: MW/002/21-22

Date:01.04.2021 10-A, Astley Hall, **DEHRADUN - 248001** Phone: 0135-6538455

E-mail: magworld ddn@yahoo.co.in

To.

Quantum University Roorkee

Journals Supply: 2021

SI	Description	Periodicity	Ann.Subs
	International		3,500,400
1	Intl. Journal of Pharmaceutical Formulation & Analysis	2	4000.00
2	Indian Journal of Pharmaceutics	2	4000.00
3	Intl. Journal of Pharmacology & Technology	2	4000.00
4	Intl. Journal of Advances Drug Delivery	2	4000.00
5	Intl. Journal of Drug Discovery & Technology	2	4000,00
6	Intl. Journal of Drug Targets	2	4000,00
	National		
7	Indian Journal of Advances in Pharmacological Science	2	4000.00
8	Indian Journal of Pharmaceutical Formulation & Analysis	2	4000.00
9	Indian Journal of Pharmaceutical Research & Technology	2	4000.00
10	Indian Journal of Pharmacology & Technology	2	4000.00
11	Indian Journal of Pharmagenesis	2	4000.00
12	Indian Journal of Advances Drug Delivery	2	4000.00
X300-	Indian Journal of Drug Development & Technology	2	4000,00
	Indian Journal of Drug Discovery & Technology	2	4000.00
SCHOOL STREET	Indian Journal of Drug Targets	2 2	4000.00
16	Indian Journal of Biomedical Signal Processing	2	4000.00
	The state of the s	5 6 6 6	1600,00
17	CIMS IDR	6	900.00
MATERIAL PROPERTY.	Pharma Darpan	12	150.00
named and the same	Pharma News	12	150.00
20	THE REPORT OF THE PROPERTY OF THE PARTY OF T	Company of the	66,800.00
1000		Postage	3,200.00
	Rs. Seventy Thousand Only		70,000.00

Terms:

- 1. All subscriptions are payable in advance
- 2. Subscriptions once booked cannot be cancelled
- 3. Information on Non-Receipt of Issues will only be entertained within 60 days of date of issue
- 4. In case replacement is not available, the subscription is extended
- 5. In case of closure of publication the decision of publisher shall be final
- International journals 7. Postage charges and service charges have been added wherever applicable.

NAME OF ACCOL ACCOUNT NO.	: 30271090593	CONTRACTOR CO.	1	
SANK NAME	SBI		1 1//	
FSC CODE	SBIN0005713		1300	ω_{-}
		VALUE AND	A BRANCH	VEH
	MARKET STREET, STREET	分别人名·马萨 ·	一般が必要	J.O
	The second second second		是一个OPE	

Rocivad Manager

Mag World

Subscription Agents for International & National E/Print Journals & Periodicals

To,

Quantum University Roorkee

2 Year Subscription for 2022 & 2023

Bill no : MW/018/22-23

Date: 23.05.2022 10-A, Astley Hall, DEHRADUN - 248001 Phone: 0136-6638456

E-mails the name of address values count

1 JOURNAL OF COMPLETE	7	-	- may
LE TECHNOLOGY WIN LAND	Yly Subs	Term	Amount
THE STANDED ADVANCE HANDE WAS A STANDARD OF THE STANDARD OF TH	3950	2.7	7900.00
THE PROPERTY OF THE PROPERTY O	3000	2	7900,00
LESS TO THE STATE OF THE WAY TO THE TENT OF THE STATE OF	3950	2	7900.00
STATE OF WORLE COMPUTING COMMINICATION AND MODIFIED	3950	2	7900.00
- T A VELYOUTS SECONITY	3950	-2	7900.00
7 JOURNAL OF IMAGE PROCESSING AND PATTERN RECOGNITION PROGRESS	3950	2 (7900.00
8 INTERNATIONAL JOURNAL OF SOFTWARE COMPUTING AND TESTING	3950	2	7900 00
9 INTERNATIONAL JOURNAL WIRELESS NETWORK SECURITY	3250	2	6500 00
10 INTERNATIONAL JOURNAL OF ALGORITHMS DESIGN AND ANALYSIS	3250	-2-	6500.00
11 INTERNATIONAL JOURNAL OF IMAGE PROCESSING AND PATTERN RECOGNITION	3250	12-	6500 00
12 E-Commerce for Feture & Trends	3250	2	6500 00
13 Journal of Web Engineering & Technology	3950	2	7900 00
14 Journal of Operating System Development & Transs	3950	2	7900 00
15 Untrinational Journals of Data Structures	3950	2	7900.00
16 International Journal of Mobile Computing Devices	3250	2	6500.00
17 International Journal of Information Security & Software Engg	3250	2	6500.00
18 Jaurnal of Advances in Shell Technology	3250	2	6500.00
19 JOURNALS OF MATERIALS AND METALLURGICAL ENGINEERING	3950	2	7900.00
INTERNATIONAL JOURNAL OF GREEN CHEMISTRY	3950	2	7900.00
	3250	2	6500.00
I INTERNATIONAL JOURNAL OF ENVIRONMENTAL CHEMISTRY	3250	2	5500.00
TOTAL BOOK WILL OF PREV AND CONTROL OF INDUSTRIAL POPULATION	3250	2	6500.00
1 - FA W. WICHMAINDRY ENDINEERING AND FICHNOLOGY	3950	2	7900.00
ALESSA AND COMPOSITE ENGINEERING AND APRILICATION	3950	2	7900.00
INTERNATIONAL JOURNAL OF THERMAL ENERGY AND APPLICATIONS	3250	2	
INTERNATIONAL JOURNAL OF MANUFACTURING AND MATERIAL PROPESSING	3250	2	6500.00
INTERNATIONAL JOURNAL OF LC ENGINES AND GAS THERIMPS	3250	2	6500.00
INVERNATIONAL JOURNAL OF ROBOTICS AND AUTOMATION	3250	2	6500.00
DOUKNAL OF VISIDESIGN TOOL AND TECHNOLOGY	3950	2	6500.00
JOURNAL OF MICROSLECTRONICS AND SOLID STATE DEVICES		-	7900.00
RECENT TRENDS IN SENSOR RESEARCH AND TECHNOLOGY	3950	2	7900.00
INTERNATIONAL JOURNAL OF EMPEDDED SYSTEMS MID FURNAMINATED	3950	2	7900 00
LESS WALL OF CONSTRUCTION ENGINEERING TECHNICIONS AND AUXILIANCE OF THE CONTROL O	3250	2	6500.00
TO THE TOTAL A COUNTY IN THE PROPERTY OF THE P	3950	2	7900.00
LE LUCE OF LITTOHURE STRUCTION AND TOPHISM AND	3950	2	7900.00
THE STATE OF THE S		2	7900.00
INTERNATIONAL JOURNAL OF TRANSPORATION ENGIAND TRAFFIC SYSTEMS		2	6500,00
THE PROPERTY OF THE PROPERTY O	3250	2	6500.00

For Mag World

The second of the order of the second of the	3250	2	8500.00	
38 INTERNATIONAL JOURNAL OF STRUCTURAL ENGINEERING AND ANALYSIS	3250		650000	
39 INTERBUTIONAL JOURNAL STRUCTURAL MECHANICS AND FINITE ELEMENTS	3250	1112	8500.00	
40 INTERNATIONAL JOURNAL OF SOLID STATE MATERIALS	A CONTRACTOR OF THE PARTY OF TH	2	T90000	
41 RESEARCH AND REVEWS JOURNAL OF PAYSICS	3940	2	65.01.00	
42 INTERNATIONAL YOURNAL OF MACHINE DESIGN AND MANUFACTURING	3250	2	8800.00	
43 NATIONAL JOURNAL OF CRIMINAL LAW	3250	2	6500.00	
44 INDIAN JOURNAL OF HEALTH AND MEDICAL LAW	1250	- 2	6500.00	
45 JOURNAL OF HUMAN RIGHTS LAW AND PRACTICE	3250	*		
46 NUTIONAL JOURNAL OF SYBER SECURITY LAW	3050		6500.00	
47 JOURNAL OF CONSTITUTIONAL LAW AND JURISH NUCENCE	3250	-	1900 00	
48 RESEARCH AND REVIEWS JOURNAL OF AGRICULTURAL SCIENCE AND TECH			1900.00	
49 RESEARCH AND REVIEWS JOURNAL OF CROP SCIENCE AND TECHNOLOGY	1950	4	7900.00	
50 RESEARCH AND REVIEWS JOURNAL OF LIFE SCIENCE	3950	2	The State of	
N head-wall was a second and a second a second and a second a second and a second a			358600.00	
Discount @ 30%				
			251020.0	

Rupees Two Lakh Fifty One Thousand and twenty Only

: At subscriptions are payable in advance

2 Subscriptors once booked cannot be concelled

3. Information on Non-Record of Issues will using be smedamed within 50 days of date of above

4 in case replacement is not axialisme, the subscription is extended

5. In case of conurs of publication the prosper of publisher shakes to that

8. Please allow 6-8 weeks for commencement of subscription for those journals and 6-to weeks for international primate

7. Postage charges and service charges have been appeared wherever applicable.

Bank Detail:		THE CONTRACT OF THE PARTY OF TH
NAME OF ACCOUNT	MAG WORLD	
ACCOUNT NO.	30271090593	
BANK NAME	581	
IFSC CODE	\$81N0005713	
IESC CODE	SBIN0005713	

um school of The SOOFNEE

Roceived

Mag World

Subscription (genry for furcinational of Subscript)

1. Print Americals & Perfordings

Date 23.05.2022 Date 23.05.2022 10-A Astley Hall, DEHRACUN - 246001 Phone 0135-6538455

t wall congressed as green there a

To.

Vice-Ghancellor Quantum University Roorkee

4 Years Monagement Package (2020-23)

Passintion	Otv	A Subs	Term	4 Year Subs
		4 110	4	17240-00
NAME OF TAXABLE PARTIES AND ADDRESS OF TAXABLE PARTIES AND ADD		9,140	4	36560 00
A THE THEORY OF THE PROPERTY O	6	12.870	112	51480 00
The state of the s	1 200	1,820	1.4	15280 00
	7	7.476	- 4	29880 00
The state of the s		9,550	14	18200 00
The state of the s	12	6.465		25860 00
	3.3	6,120		24480 00
	2	4,980	4	19920 00
	1	4.980	<u>4</u>	19920 00
Vikalpa Journat	1	15.160	4	21640 00
- Paragraphic and American Company of the Company o	1	9.530	- 1	18120 00
			4	1,37,980.00
	Description Asian Journal of Management Cases Foreign Trade Review Global Business Review IIM Kozhikode Society and Management Review International Journal of Rural Management Journal of Emerging Market Finance Journal of Entrepreneurship Journal of Human Values Metamorphosis A Journal of Management Research	Asian Journal of Management Cases 2 Foreign Trade Review 4 Global Business Review 6 IIM Kozhikode Society and Management Review 2 International Journal of Rural Management 1 Iournal of Emerging Market Finance 1 Iournal of Entrepreneurship 1 Iournal of Human Values 3 Metamorphosis A Journal of Management Research 2 South Asian Journal of Business and Management Cases 1 Vikalpa Journal 4	Asian Journal of Management Cases 2 4 118 Foreign Trade Review 4 9 140 Global Business Review 6 12 870 IIM Kozhikode Society and Management Review 2 1,820 International Journal of Rural Management 2 7 470 Iournal of Emerging Market Finance 1 9,550 Journal of Entrepreneurship 2 6 465 Iournal of Human Values 3 6,120 Metamorphosis A Journal of Management Research 2 4 980 South Asian Journal of Business and Management Cases 1 4 980 Vikalpa Journal 4 5 466	Asian Journal of Management Cases 2 4 110 4 Foreign Trade Review 4 9 140 4 Global Business Review 6 12 870 4 IIM Kozhikode Society and Management Review 2 3,820 4 International Journal of Rural Management 2 7 476 4 Iournal of Emerging Market Finance 3 9,550 4 Iournal of Entrepreneurship 2 6 465 4 Iournal of Human Values 3 6,120 4 Metamorphosis A Journal of Management Research 2 4 980 4 South Asian Journal of Business and Management Cases 1 4 980 4 Vikalpa Journal

Less 50%

1,68,990.00 1,68,990.00 6,540.00

Po & Pc Charges

Rupees One Lakh Seventy Five Thousand Five Hundred and Thirty Only

1,75,530.00

Terra.

1. Alt subscriptions are payable in advance.

2. Subscriptions once booked carried by carriefe.

1 information prohips flowings of laxues will unly be entertweed within 68 days of date of exemp

4 to case repracement is not available. The subscriptors is extended

For Mag World

& is case of clasure of postication the decision of potentier of sit be limit

brief e a bolitat journals

* Passage tharpes and move tharper have been added wherever appointed

Manuales

Bank Detail

NAME OF ACCOUNT MAG WORLD
ACCOUNT NO 30271090593

BANK NAME 581

IFSC CODE SBIN0005713

Society Company Society Societ

Recal Mad Line Right Restry

Mag World

Subscription Agents for International & National EPrint Journals & Periodicals INVOICE No .: MW/015/21-22

Date:03.03.2022 10-A, Astley Hall, DEHRADUN - 248001 Phone: 0135-6538455

E-mail: magworld ddn@yahoo co in

To,

Quantum University Roorkee

Journals Supply: 2021

SI	Description	Periodicity	Ann.Subs
	International		10 P. C.
1	IntL Journal of Pharmaceutical Formulation & Analysis	2	4000.00
2	Indian Journal of Pharmaceutics	2	4000.00
3	Intl. Journal of Pharmacology & Technology	2	4000.00
4	intl. Journal of Advances Drug Delivery	2	4000.00
5	Intl. Journal of Drug Discovery & Technology	2	4000.00
6	Intl. Journal of Drug Targets	2	4000.00
	National	B. Carrier	
7	Indian Journal of Advances in Pharmacological Science	2	4000:00
8	Indian Journal of Pharmaceutical Formulation & Analysis	2	4000.00
9	Indian Journal of Pharmaceutical Research & Technology	2	4000.00
10	Indian Journal of Pharmacology & Technology	2	4000.00
11	Indian Journal of Pharmagenesis	2	4000.00
12	Indian Journal of Advances Drug Delivery	2	4000.00
13	Indian Journal of Drug Development & Technology	2	4000.00
14	Indian Journal of Drug Discovery & Technology	2	4000.00
15	Indian Journal of Drug Targets	2	4000.00
16	Indian Journal of Biomedical Signal Processing	2	4000.00
17	CIMS	5	1600.00
18	IDR	6	900.00
19	Drugs Today	6	1200.00
20	Pharma News	12	150.00
			67,850.00
		Postage	2,150.00
	Rs. Seventy Thousand Only	Kart Joseph L.	70,000.00

Tems

- 1. All subscriptions are payable in advance
- 2 Subscriptions once backed cannot be cancelled
- 3. Information on Non-Receipt of Issues will only be entertained within 60 days of date of Issue
- 4. In case replacement is not available, the subscription is extended.
- 5. In case of closure of publication the decision of publisher shall be final international journals.
- 7, Postage charges and service charges have been added wherever applicable.

Bank Detail.

20000	ALTIN W. WISSING	
	NAME OF ACCOU	INT : MAG WORLD
Г	ACCOUNT NO.	30271090593
	BANK NAME	SBI
	IFSC CODE	SBIN0005713

For Mag World

Cooperation

Animager

OUANTERINATION

OUANTERI

School of Tourist And

Mag World

Subscription Agents for International & National E/Print Journals & Periodicals INVOICE No.: MW/15/2022-23

Date:23.08.2022 10-A, Astley Hall, DEHRADUN - 248001 Phone: 0135-6538455

E-mail: magworld ddn@yshoo.co.in

To,

Quantum School of Law Quantum University Roorkee

One Year Supply of Magazines

\$1	Description	Qty	Amount
1	Supreme Court Cases 2022 Bound Volumes	10	16299.00
2	AIR Monthly 2022 Unbound	12	10680.00
3	Criminal Law Journal 2022 Unbound	12	7500.00
4	Company Cases -2022 (in 6 Volumes)	6	11240.00
5	AIR Civil Cases	12	4920.00
6	AIR Cheque Dishonour Reports	12	3420.00
7.	AIR Accident Claims & Compensation Cases	12	5760,00
8	AIR Law Lines	12	1800.00
9	Labour & Industrial Cases	12	8760.00
10	Allahabad Law Journal	12	5040.00
			75,419.00

Rs. Seventy Five Thousand Four Hundred Ninteen Only

Terms:

- 1. All subscriptions are payable in advance
- 2 Subscriptions once booked cannot be cancelled
- 3. Information on Non-Receipt of Issues will only be entertained within 60 days of date of issue
- 4 In case replacement is not available, the subscription is extended,
- 5. In case of closure of publication the decision of publisher shall be final weeks for international journals.
- 7. Postage charges and service charges have been added wherever applicable

Bank Detail

1 NAME OF ACCOUNT : MAG WORLD ACCOUNT NO. : 30271090593

BANK NAME :

:SBI

IFSC CODE

: SBIN0005713

For Mag World

Rewar

Manager

Decroy

QUANTING DIRECE

(KO

Mag World

Subscription Agents for International & National EPrint Journals & Periodicals INVOICE No.: MW/20/2022-23

Date:27.12.2022 10-A, Astley Hall, **DEHRADUN - 248001**

Phone: 0135-6538455

E-mail: magworld ddn@yshoo.co.ip

To,

Quantum School of Law Quantum University Roorkee

One Year Supply of Law Magazines & Journals for 2023

SI	Description	Qty	Amoun
1	Supreme Court Cases 2023 Bound Volumes	10	18499.00
2	AIR Monthly 2022 Unbound	12	12480.00
3	Criminal Law Journal 2022 Unbound	12	7740.00
4	Company Cases -2022 (in 6 Volumes)	6	12170.00
5	AIR Civil Cases	12	5040.00
6	AIR Cheque Dishonour Reports	12	3480.00
7	AIR Accident Claims & Compensation Cases	12	5940 00
8	AIR Law Lines	12	1980.00
9	Labour & Industrial Cases	12	8820.00
10	Allahabad Law Journal	12	5280 00
			81,429.00

Rs. Eighty One Thousand Four Hundred and Twenty Nine Only

Terms:

- 1. All subscriptions are payable in advance
- 2. Subscriptions once booked cannot be cancelled
- 3. Information on Non-Receipt of Issues will only be entertained within 60 days of date of issue
- 4. in case replacement is not available, the subscription is extended.
- 5. In case of closure of publication the decision of publisher shall be final weeks for International Journals
- 7. Postage charges and service charges have been added wherever applicable

Bank Detail:

1 NAME OF ACCOUNT : MAG WORLD : 30271090593 ACCOUNT NO.

BANK NAME

:SBI

IFSC CODE

: SBIN0005713

ecived

QUANTUM UNIVERSITY

in School of Text ounter ROOSLER